Practice Exercises 117

person (driver_id, name, address)

car (license_plate, model, year)

accident (report_-number, year, location)

owns (driver_id, license_plate)

participated (report_number, license_plate, driver_id, damage_amount)
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Figure 3.17 Insurance database

b. Delete all year-2010 cars belonging to the person whose ID is '12345".

Suppose that we have a relation marks(ID, score) and we wish to assign grades
to students based on the score as follows: grade F if score < 40, grade C if 40
< score < 60, grade B if 60 < score < 80, and grade 4 if 80 < score. Write SQL
queries to do the following:

a. Display the grade for each student, based on the marks relation.

b. Find the number of students with each grade.

The SQL like operator is case sensitive (in most systems), but the lower() func-
tion on strings can be used to perform case-insensitive matching. To show how,
write a query that finds departments whose names contain the string “sci” as a
substring, regardless of the case.

Consider the SQL query

select p.al
from p, r1, r2
where p.al =rl.al or p.al =r2.al

Under what conditions does the preceding query select values of p.al that are
either in 71 or in r2? Examine carefully the cases where either r1 or 72 may be
empty.

Consider the bank database of Figure 3.18, where the primary keys are under-
lined. Construct the following SQL queries for this relational database.

a. Find the ID of each customer of the bank who has an account but not a
loan.

b. Findthe ID of each customer who lives on the same street and in the same
city as customer '12345".

c. Find the name of each branch that has at least one customer who has an
account in the bank and who lives in “Harrison”.



